TRIMEHEERITERER dopmEs)

B4HI o uSv/h
AIE IS MER | ﬁﬂoifm) 5 Ocm 1m =
ARRBEEANSE|10A28H 0.08 0.08 0.08
BERRBE 10R28H 0.08 0.08 0.08
TAREER 10R28H 0.08 0.07 0.07
HREE 10R28H 0.08 0.08 0.08
BAEREE 10R28H 0.08 0.08 0.08
HhEIREE 10R28H 0.08 0.08 0.08
TtREREE 10R31H 0.08 0.08 0.08
RREEHE 10R28H 0.08 0.08 0.08
SHREER 10R28H 0.09 0.09 0.09
TANREER 10R28H 0.07 0. 07 0. 07
FEREE 10R28H 0.09 0.09 0.09
2L LSi#E 10R31H8 0.09 0.08 0.08
INF RS HEE 10R31H8 0.08 0.08 0.08
WY $h#E 10R28H 0.10 0.09 0.09
BEANNER 10R28H 0.09 0.09 0.09
FIRINERR 10R28H 0.12 0.11 0. 11
JUFHINERR 10R28H 0.11 0.10 0.10
BB INERR 10R28H 0.08 0.08 0.08
TAINER 10R28H 0.09 0.08 0.08
INF B INERR 10R28H 0.10 0.10 0.10
B/NFAINER 10H28H 0.09 0.08 0.08
RIL/NERR 10R28H 0.08 0.08 0.08
A BRINER 10H28H 0.08 0.08 0.08
FR/NER 10R28H 0.08 0.08 0.08
FHINER 10H28H 0.10 0.10 0.10
AFEdZEi 10R28H 0.07 0. 07 0. 07
B R R 10H28H 0.10 0.10 0.10
R/INTFARER 10R28H 0.10 0.10 0.10
FHPER 10H28H 0.09 0.09 0.08
INF AR 10R31H8 0.10 0.10 0.10
(%)
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